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PROBLEMS ON AGES
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Time : 30 Minutes

. The average age of Arun, Chandu, Monish,
Rakesh and Baskar is 30 years. The average
age of Arun, Monish and Rakesh is 32 years.
What is the average age of Chandu and
Baskar?

A. 26 B. 27
E. None of these
. At present, Mohan is 12 years older than
Kumar. After 10 years, Kumar will be 25
years old. What is Mohan’s present age?

A. 27 B. 29 C.31 D. 25

E. None of these

. At present, Raniis 6 years younger than Vani.
After 5 years, Vani will be 15 years old. What
will be age of Rani, 4 years hence?

A.6 B.8 C.10 D. 12

E. None of these

. The ratio between the ages of Mamatha and
Samathais 5: 3. After 5 years, the sum of
their ages will be 74 years. What is the
present age of Samatha?

A. 22 B. 20 C.24
E. None of these

. The ratio between the ages of Sudha and
Radha is 5 : 8 and the difference between
their ages after 5 years will be 12. What is
the present age of Sudha?
A. 18 B. 19 C.21
E. None of these

. Lathais 25 years younger than her mother.
15 years hence, Latha will be half as old as
her mother will be. How old is her mother at
present?

A. 30 B. 31
E. None of these
. The ratio between the ages of Kalyani and

C.29 D. 30

D. 25

D. 20

C.32 D. 33

Ragini is 8 : 3 and the sum of their ages is 44
years. What will be the ratio of their ages
after 10 years?

A.22:12 B.12:22 C.21:11 D.11:21
E. None of these

The ratio between ages of Sudeer and
Prasad is 5: 8. After 10 years, itwillbe 5: 7.
The sum of their ages at present is?

A.51 B. 52 C.50 D. 49

E. None of these

The age of a son 25% less than the age of
his father, how much percent is the age of
father more than of his son?

A.25% B. 335% C.50% D.66 %
10. Abu is as much younger than Rajan as he is

2 older than Raju. The sum of ages of Rajan

3 and Raju is 45 years. What was the age of
Abu 6 years back?
A. 12 B.14
E. None of these
11. Rajeev’s age after 15 years will be 5 times
his age 5 years back. What is present age
of Rajeev?
A. 15 B. 20
E. None of these
12. Presentages of Xand Y areinratio5: 6
respectively. 7 years hence this ratio will
become 6 : 7 respectively. What is X’s
present age in years?
A. 35 B. 49
E. None of these
13.1n 10 years. Awill be twice as old as B
was 10 years ago. If Ais now 9 years older
than B, the present age of B in years is?
A. 19 B. 29 C. 39 D. 49
E. None of these

C.16 D. 15

C.10 D. 12

C.42 D. 52




14. Father said to his son, “l was as old as you
are at present at the time of your birth”. Ifthe
father’s age is 38 years now, the son’s age
five years back was?

A. 14 B. 19 C. 33 D. 38
E. None of these

15. The age of father 10 years ago was thrice
the age of his son. Ten years hence, father’s
are will be twice that of his son. The ratio of
their present ages is?

A.5:2 B.7:3 C.9:2 D.13:4
E. None of these

16. The total of the ages of A, B and C is 93
years. Ten years ago, the ratio of their ages
was 2 : 3: 4. What s the present age of C?
A. 24 B. 32 C.34 D. 38
E. None of these

17. The difference between ages of two
persons is 10 years. 15 years ago, the older
one was twice as old as the younger one.
The present age of the elder person is?

A. 25 B. 35 C. 45 D. 55
E. None of these

18. Ais two years older than B. Who is twice as
old as C. If the total of the ages of A, Band C
be 27, then how old is B?

A7 B.8 C.9 D. 10
E. None of these

19. The sum of ages of a father and his son is
45 years. 5 years ago, the product of their
ages was 34. the ages of the son and the
father are respectively?

A.6,39 B.7,38 C.9,36 D.11, 34
E. None of these

20. Ramu is 40 years old and Suresh is 60
years old. How many years ago was the
ratio of their ages 3 : 5?

A.5 B. 10 C. 20 D. 37
E. None of these
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